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QUESTION 1

See the following specification:

I icustumer no. = 200 AND (group=330 OF article=action OF customer years
==10)
T ICM discount = 10%
[IF custormer no. = 500 AND region code = 4
THEM invoice type = A

ELSE
. Invoice type = C
FhINIF

ELSE imvoice type = C

ENDIF

How many test situations can be distinguished for this specification when the coverage type decision points modified
condition/decision is used?

A 2
B.6
C.8
D. 64

Correct Answer: C

QUESTION 2

Three parameters play a role for a printing function and for every parameter there are two equivalence classes to be
tested:

TMPTE PDF Dumps | TMPTE Practice Test | TMPTE Exam Questions 2/4


https://www.passapply.com/tmpte.html
https://www.passapply.com/tmpte.html
https://www.passapply.com/tmpte.html

VCE & PDF https://www.passapply.com/tmpte.html
2024 Latest passapply TMPTE PDF and VCE dumps Download
PassApply.com

._va:I nt I§~EI|IIII’Z _tglhalzk |:: |_:|1|:|r

:fI:Ir'It SIZE: __1EI 512

| | font | font color | font size
| arial | black | 10

| 2 | arial | rolar | 12

| ) | verdana | black | 12
I | |

Which combination is missing in the table if the coverage type pairwise testing is applied?
A. arial color 10

B. arial black 12

C. verdana color 10

D. verdana black 10

Correct Answer: C

QUESTION 3

During the test execution of a large customer registration system, the system went down for several times. Although
there were no test cases described the tester concluded that the continuity was poor. Which testing method is described
here?

A. dynamic explicit testing

B. dynamic implicit testing

C. static testing

Correct Answer: B

QUESTION 4

See the decision and test situations below: R = (A AND B) OR C
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|1 HA=false |B:true EC:faISE
|E.A:false |E:false !C:true
iSA:true |B:trUE |C:faISE

Which test situation is missing if the coverage type decision points modified condition/decision coverage is used?

o5 |ﬂw=true |E=1Iue |C=true|

B. |.n'-‘~.=trLJE |E:fal5E lC:fa|SE|

A. B.

Correct Answer: B

QUESTION 5

Drivers can be used in the Execution phase of a test process. What are drivers for?

A. to test, at an early stage, a module that has relationships with modules not yet realized
B. to gain insight into aspects like memory use, CPU use, network load and performance

C. to determine whether the system continues to function correctly and at the required speeds under the expected
production load

Correct Answer: A
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